СІТҮ ОҒ КІ	-NT			1 1		] 2		] 3		I 4		J 5		l 6	1
PROJECT N	IAME: Horseshoe Bend/Foster Park Levee NG: June 29, 2010	BIDDER'S NAME AN ADDRESS	D	Lloyd Enterprise 34667 Pacific F Federal Way, W	Hwy. S.	Interwest Deve 28201 Hwy 410 Buckley, WA 9	D E., #300	SCI Infrastructi 1508 Valentine Pacific, WA 98	Ave. SE	Fardig Develop 1809 Tacoma F Lake Tapps, W	Point Drive E.	Johansen Exca PO Box 674 Buckley, WA 9	o .	Construct Com 1621 Pease Ave Sumner, WA 9	e.
		TOTAL			\$422,898.18	-	\$488,436.08		\$515,886.82		\$517,908.39		\$555,059.06		\$578,799.26
ITEM		TOTAL			\$422,696.16 TOTAL		\$466,436.06 TOTAL		\$515,666.62 TOTAL		\$517,908.39 TOTAL		\$555,059.06 TOTAL		\$576,799.26 TOTAL
NO.	DESCRIPTION	QUA QTY	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUNT
Schedule 1000	I - Levee Mobilization	1	1.0	\$40,000 <b>7</b> 0	¢40,000,70	#0F 000 00	<b>#05.000.00</b>	<b>***</b>	<b>#04.000.00</b>	<b>****</b>	#20 440 00	<b>*</b> 22 222 22	<b>*</b> 22.000.00	ΦE 4 000 00	<b>#54.000.00</b>
1005	Clearing and Grubbing	1	LS LS	\$10,083.78	\$10,083.78	\$25,000.00	\$25,000.00	\$24,000.00	\$24,000.00	\$30,449.00	\$30,449.00	\$22,000.00	\$22,000.00	\$54,000.00	\$54,000.00
1003	Evergreen Rootwad with 5'-6' Trunk (Haul and Stockpile)	31	EA	\$7,521.88	\$7,521.88	\$5,000.00	\$5,000.00	\$38,000.00	\$38,000.00	\$15,273.00	\$15,273.00	\$6,000.00	\$6,000.00	\$23,000.00 \$170.00	\$23,000.00
1007	Remove Existing Asphalt Concrete Pavement	503	SY	\$208.57 \$2.04	\$6,465.67	\$40.00	\$1,240.00	\$120.00	\$3,720.00	\$93.00	\$2,883.00	\$172.00	\$5,332.00	\$170.00	\$5,270.00
1010	Remove Cement Concrete Driveway	8	SY	\$2.04 \$16.26	\$1,026.12 \$130.08	\$2.00 \$10.00	\$1,006.00 \$80.00	\$5.00	\$2,515.00 \$160.00	\$5.00 \$17.00	\$2,515.00 \$136.00	\$6.00	\$3,018.00 \$180.00	\$10.00	\$5,030.00 \$200.00
1021	Remove Cement Concrete Curb and Gutter	89	LF	\$4.38	\$389.82	\$10.00	\$890.00	\$20.00 \$12.00	\$1,068.00	\$6.00	\$534.00	\$22.50 \$10.00	\$890.00	\$25.00 \$12.00	\$1,068.00
1030	Remove Cement Concrete Extruded Curb	40	LF	\$4.29		*				\$2.00				\$12.00 \$12.00	
1030	Relocate Signs	1	LS	\$4.29 \$696.16	\$171.60 \$404.14	\$10.00 \$500.00	\$400.00	\$6.00 \$500.00	\$240.00 \$500.00		\$80.00	\$10.00	\$400.00	\$12.00 \$500.00	\$480.00
1045	Saw Cut Existing Asphalt Concrete Pavement	161	LF	\$696.16	\$696.16 \$410.55	\$500.00	\$500.00 \$483.00	\$500.00 \$4.25	\$500.00 \$684.25	\$2,000.00 \$2.00	\$2,000.00 \$322.00	\$1,800.00 \$5.00	\$1,800.00 \$805.00	\$500.00	\$500.00 \$322.00
1060	Roadway Excavation Including Haul	432	CY	\$2.55 \$14.81	\$6,397.92	\$3.00 \$13.80		\$4.25 \$17.00	\$7,344.00	\$2.00 \$11.00				\$2.00 \$25.00	
1061	Stormwater Detention Pond Excavation, Including Haul	931	CY	\$11.19	\$10,417.89	\$20.00	\$5,961.60 \$18,620.00	\$17.00 \$15.50	\$14,430.50	\$11.00	\$4,752.00 \$10,241.00	\$15.00 \$17.00	\$6,480.00 \$15,827.00	\$25.00 \$16.00	\$10,800.00 \$14,896.00
1065	Unsuitable Foundation Excavation Including Haul	865	CY	\$11.19	\$9,679.35	\$13.80	\$10,020.00	\$15.50	\$14,430.50	\$20.00	\$10,241.00	\$16.50	\$13,827.00	\$18.00	\$19,030.00
1003	Geotextile Fabric, Non-Woven	280	SY	\$1.19								\$9.00			
1075	Gravel Borrow for Levee Embankment, Incl Haul & Compaction	13,653	TON	\$5.07	\$330.40 \$69,220.71	\$3.00 \$8.75	\$840.00	\$1.25 \$9.25	\$350.00	\$2.00 \$9.00	\$560.00 \$122,877.00	\$8.50	\$2,520.00 \$116,050.50	\$2.00 \$12.40	\$560.00 \$169,297.20
1076	Gravel Backfill for Walls	243	TON	\$16.15	\$3,924.45	\$8.75	\$119,463.75 \$2,126.25	\$4.25 \$14.50	\$126,290.25 \$3,523.50	\$14.00	\$3,402.00	\$24.50	\$5,953.50	\$12.40	\$3,159.00
1070	Crushed Surfacing Top Course, 5/8 Inch Minus	278	TON	\$20.84	\$5,793.52	\$6.75 \$11.25	\$3,127.50	\$14.50 \$14.25	\$3,961.50	\$14.00	\$4,170.00	\$25.50	\$7,089.00	\$13.00 \$19.00	\$5,282.00
1085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	379	TON	\$26.78	\$10,149.62	\$11.25 \$11.25	\$4,263.75	\$14.25 \$15.00	\$5,685.00	\$13.00	\$5,306.00	\$26.00	\$9,854.00	\$17.00 \$17.00	\$6,443.00
1005	HMA Class 1/2", PG 64-22	209	TON	\$104.00	•	\$87.25		\$15.00 \$95.00		\$83.00			· ·	\$17.00	\$19,855.00
1125	Cold Plant Mix for Temporary Pavement Patch	3	TON	\$104.00	\$21,736.00 \$480.12	\$300.00	\$18,235.25 \$900.00	\$95.00 \$150.00	\$19,855.00 \$450.00	\$3.00	\$17,347.00 \$1,029.00	\$104.00 \$230.00	\$21,736.00 \$690.00	\$95.00 \$150.00	\$19,855.00
1131	Pervious Cement Concrete Pavement	153	CY	\$163.20	\$24,969.60	\$201.25	\$30,791.25	\$180.00	\$27,540.00	\$190.00	\$1,029.00	\$334.00	\$51,102.00	\$150.00	\$22,950.00
1140	Cement Concrete Driveway, 8 Inch Depth, Reinforced	36	SY	\$40.80	\$1,468.80	\$60.00	\$2,160.00	\$50.00	\$1,800.00	\$61.00	\$29,070.00	\$82.00	\$2,952.00	\$150.00	\$1,800.00
1145	Cement Concrete Sidewalk	41	SY	\$40.80	\$1,408.80	\$55.00	\$2,760.00	\$50.00		\$52.00	\$2,132.00	\$39.00	\$1,599.00	\$50.00	\$2,050.00
1205	Cement Concrete Curb and Gutter	85	LF	\$15.30		\$18.00		\$20.00	\$2,050.00	\$52.00 \$16.00		\$19.00	\$1,615.00	\$20.00	
1203	Cement Concrete Extruded Curb	32	LF	\$25.50	\$1,300.50 \$816.00	\$10.00	\$1,530.00 \$320.00	\$30.00	\$1,700.00 \$960.00	\$16.00	\$1,360.00 \$800.00	\$26.50	\$848.00	\$20.00 \$15.00	\$1,700.00 \$480.00
1256	Remove Wire Fence	40	LF	\$25.50	\$103.60	\$5.00	\$200.00	\$5.00	\$200.00	\$10.00	\$400.00	\$20.00	\$800.00	\$5.00	\$200.00
1257	Wire Fence Type 2	40	LF	\$9.80	\$392.00	\$60.00	\$2,400.00	\$30.00	\$1,200.00	\$25.00	\$1,000.00	\$15.00	\$600.00	\$5.00 \$15.00	\$600.00
1270	Temporary Fencing	40	LF	\$9.80	\$392.00	\$1.00	\$40.00	\$10.00	\$400.00	\$5.00	\$1,000.00	\$11.00	\$440.00	\$10.00	\$400.00
1290	Removable Bollard	7	EA	\$779.37	\$5,455.59	\$700.00	\$4,900.00	\$500.00		\$1,008.00	\$7,056.00	\$620.00	\$4,340.00	\$600.00	\$4,200.00
1290	Remove Existing Bollard	6	EA	\$64.77	\$388.62	\$100.00	\$600.00	\$125.00	\$3,500.00 \$750.00	\$1,008.00	\$7,056.00	\$75.00	\$4,340.00	\$60.00	\$360.00
1315	Pothole Utilities	6	EA	\$172.72	\$1,036.32	\$150.00	\$900.00	\$125.00	\$1,650.00	\$365.00	\$2,190.00	\$186.00	\$1,116.00	\$150.00	\$900.00
1320	Project Sign	2	EA	\$881.40	\$1,762.80	\$350.00	\$700.00	\$500.00	\$1,000.00	\$482.00	\$2,190.00	\$1,600.00	\$3,200.00	\$600.00	\$1,200.00
1355	Minor Changes	1	CALC	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$1,000.00	\$15,000.00	\$15,000.00	\$15,000.00
1360	Inspection Trench	1,290	LF	\$15,000.00	\$4,721.40	\$15,000.00	\$13,000.00	\$15,000.00	\$3,870.00	\$15,000.00	\$13,000.00	\$15,000.00	\$6,450.00	\$15,000.00	\$7,740.00
1365	Remove and Relocate Art Bench	1,270	LS	\$1,025.99	\$1,025.99	\$1,000.00	\$14,512.50	\$1,500.00	\$1,500.00	\$432.00	\$3,870.00	\$600.00	\$6,450.00	\$500.00	\$500.00
1370	Relocation of Existing Sand Bags	20	EA	\$1,025.99	\$259.00	\$1,000.00	\$800.00	\$1,500.00	\$900.00	\$36.00	\$720.00	\$70.00	\$1,400.00	\$500.00 \$75.00	\$1,500.00
	Existing Irrigation System Removal and Modification		FA	\$12.95	\$259.00	\$40.00	\$3,000.00	\$45.00	\$3,000.00	\$36.00	\$3,000.00	\$3,000.00	\$3,000.00	\$75.00	\$3,000.00
	HEDULE I	13 1	17	\$3,000.00	\$228,790.66	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00		\$3,000.00	\$3,000.00	\$404,222.20
TOTAL 30	sales tax 9.5%				\$21,735.11		\$28,612.37		\$30,381.54		\$29,632.40		\$330,409.30		\$38,401.11
	Total Schedule I				\$250,525.77		\$329,795.22		\$350,381.34		\$341,552.40		\$368,368.40		\$442,623.31
SCHEDUI	E IV - STORM SEWER														
4015	Storm Sewer Pipe, 12 Inch Diameter Ductile Iron	61	LF	\$43.30	\$2,641.30	\$46.00	\$2,806.00	\$75.00	\$4,575.00	\$43.00	\$2,623.00	\$44.00	\$2,684.00	\$100.00	\$6,100.00
4135	Remove Existing Storm Sewer Pipe or Culvert	20	LF	\$12.68	\$253.60	\$5.00	\$100.00	\$20.00	\$400.00	\$26.00	\$520.00		\$800.00	\$10.00	\$200.00
4150	Shoring or Extra Excavation, Class B	43	SF	\$5.90	\$253.70	\$1.00	\$43.00	\$20.00	\$86.00	\$5.00	\$215.00		\$430.00	\$10.00	\$430.00
4155	Foundation Material, Class I and II	13	TON	\$15.15	\$196.95	\$20.00	\$260.00	\$20.00	\$260.00	\$25.00	\$325.00		\$390.00	\$15.00	\$195.00

CITY OF	KENT			l 1		2		J 3		l 4		l 5		l 6	
PROJECT	NAME: Horseshoe Bend/Foster Park Levee	BIDDER'S	S	Lloyd Enterprise	s, Inc.	Interwest Devel	opment NW	SCI Infrastructu	ure, LLC	Fardig Developr	ment, Inc.	Johansen Excav	ating, Inc.	Construct Comp	oany, Inc.
BID OPEN	NING: June 29, 2010	NAME AN	ID	34667 Pacific H	lwy. S.	28201 Hwy 410	E., #300	1508 Valentine	Ave. SE	1809 Tacoma P	oint Drive E.	PO Box 674	_	1621 Pease Ave	e.
		ADDRESS	S	Federal Way, W.	A 98063	Buckley, WA 98	3321	Pacific, WA 980	047	Lake Tapps, WA	98391	Buckley, WA 9	8321	Sumner, WA 9	8390
		TOTAL			\$422,898.18		\$488,436.08		\$515,886.82		\$517,908.39		\$555,059.06		\$578,799.26
ITEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QUA QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
4160	Light Loose Riprap	13	TON	\$25.46	\$330.98	\$20.00	\$260.00	\$32.00	\$416.00	\$27.00	\$351.00	\$77.00	\$1,001.00	\$60.00	\$780.00
4165	Quarry Spalls	158	TON	\$29.68	\$4,689.44	\$15.00	\$2,370.00	\$25.00	\$3,950.00	\$18.00	\$2,844.00	\$32.00	\$5,056.00	\$25.00	\$3,950.00
4170	Pipe Zone Bedding	17	TON	\$15.41	\$261.97	\$9.00	\$153.00	\$20.00	\$340.00	\$22.00	\$374.00	\$11.50	\$195.50	\$27.00	\$459.00
4180	Bank Run Gravel for Trench Backfill	80	TON	\$9.38	\$750.40	\$8.75	\$700.00	\$15.50	\$1,240.00	\$17.00	\$1,360.00	\$15.00	\$1,200.00	\$17.00	\$1,360.00
4220	12" Diameter Check Valve Assembly	1	EA	\$2,630.89	\$2,630.89	\$2,300.00	\$2,300.00	\$2,300.00	\$2,300.00	\$2,446.00	\$2,446.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
4225	48" Diamenter Wall Mounted Aluminum Flap Gate Assembly	1	EA	\$9,112.79	\$9,112.79	\$12,000.00	\$12,000.00	\$9,400.00	\$9,400.00	\$5,698.00	\$5,698.00	\$6,000.00	\$6,000.00	\$13,000.00	\$13,000.00
TOTAL S	SCHEDULE IV				\$21,122.02		\$20,992.00		\$22,967.00		\$16,756.00		\$20,256.50		\$28,474.00
	sales tax 9.5%				\$2,006.59		\$1,994.24		\$2,181.87		\$1,591.82		\$1,924.37		\$2,705.03
	Total Schedule IV				\$23,128.61		\$22,986.24		\$25,148.87		\$18,347.82		\$22,180.87		\$31,179.03
SCHEDU	ILE V - TRAFFIC CONTROL														
5005	Traffic Control Labor	960	HR	\$45.90	\$44,064.00	\$44.00	\$42,240.00	\$44.00	\$42,240.00	\$42.05	\$40,368.00	\$42.50	\$40,800.00	\$0.01	\$9.60
5010	Construction Signs Class A	740	SF	\$1.93	\$1,428.20	\$5.00	\$3,700.00	\$9.00	\$6,660.00	\$2.00	\$1,480.00	\$5.50	\$4,070.00	\$1.00	\$740.00
5015	Traffic Control Supervisor	300	HR	\$47.94	\$14,382.00	\$45.00	\$13,500.00	\$57.00	\$17,100.00	\$5.00	\$1,500.00	\$45.00	\$13,500.00	\$0.01	\$3.00
5020	Temporary Traffic Control Devices	1	LS	\$611.88	\$611.88	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$516.00	\$516.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00
5030	Portable Changeable Message Sign (PCMS)	50	DAY	\$77.29	\$3,864.50	\$100.00	\$5,000.00	\$50.00	\$2,500.00	\$93.00	\$4,650.00	\$132.00	\$6,600.00	\$85.00	\$4,250.00
5035	Sequential Arrow Sign (SAS)	30	DAY	\$25.76	\$772.80	\$200.00	\$6,000.00	\$40.00	\$1,200.00	\$53.00	\$1,590.00	\$132.00	\$3,960.00	\$30.00	\$900.00
TOTAL S	SCHEDULE V				\$65,123.38		\$71,440.00		\$71,700.00		\$50,104.00		\$73,930.00		\$12,902.60
	sales tax 9.5%				\$6,186.72		\$6,786.80		\$6,811.50		\$4,759.88		\$7,023.35		\$1,225.75
	Total Schedule V				\$71,310.10		\$78,226.80		\$78,511.50		\$54,863.88		\$80,953.35		\$14,128.35
SCHEDU	JLE VII - TEMPORARY EROSION AND SEDIMENT	ATION CONTR	ROL												
7000	Seeding, Fertilizing and Mulching	3.8	ACRE	\$1,570.80	\$5,969.04	\$1,750.00	\$6,650.00	\$1,200.00	\$4,560.00	\$2,709.00	\$10,294.20	\$2,003.00	\$7,611.40	\$2,050.00	\$7,790.00
7005	Filter Fabric Fence	550	LF	\$4.91	\$2,700.50	\$3.00	\$1,650.00	\$3.80	\$2,090.00	\$4.00	\$2,200.00	\$4.00	\$2,200.00	\$5.00	\$2,750.00
7006	Straw Wattle	200	LF	\$6.99	\$1,398.00	\$4.00	\$800.00	\$6.00	\$1,200.00	\$6.00	\$1,200.00	\$8.00	\$1,600.00	\$3.00	\$600.00
7015	Inlet Protection	7	EA	\$60.01	\$420.07	\$50.00	\$350.00	\$65.00	\$455.00	\$42.00	\$294.00	\$71.00	\$497.00	\$50.00	\$350.00
7020	Straw Mulch	3,687	SY	\$0.51	\$1,880.37	\$1.00	\$3,687.00	\$0.01	\$36.87	\$0.50	\$1,843.50	\$0.55	\$2,027.85	\$1.00	\$3,687.00
7025	Clear Plastic Covering	500	SY	\$0.58	\$290.00	\$1.00	\$500.00	\$2.50	\$1,250.00	\$1.00	\$500.00	\$3.50	\$1,750.00	\$1.40	\$700.00
7055	Temporary Erosion/Water Pollution Control	1	FA	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
7060	Temporary Construction Entrance	499	TON	\$21.64	\$10,798.36	\$12.00	\$5,988.00	\$15.00	\$7,485.00	\$25.00	\$12,475.00	\$20.00	\$9,980.00	\$33.00	\$16,467.00
TOTAL S	SCHEDULE VII				\$38,456.34		\$34,625.00		\$32,076.87		\$43,806.70		\$40,666.25		\$47,344.00
	sales tax 9.5% Total Schedule VII				\$3,653.35 <b>\$42,109.69</b>		\$3,289.38 <b>\$37,914.38</b>		\$3,047.30 <b>\$35,124.17</b>		\$4,161.64 <b>\$47,968.34</b>		\$3,863.29 <b>\$44,529.54</b>		\$4,497.68 <b>\$51,841.68</b>
	Total Schedule VII				\$42,109.69		<b>\$37,914.30</b>		\$35,124.1 <i>1</i>		\$47,900.34		\$44,529.5 <b>4</b>		\$51,041.00
	JLE VIII - ROADSIDE RESTORATION	1 000	CV	#3/ /3	¢22 74F 00	¢14 F0	¢17.000.50	\$20.00	¢24 500 00	¢41.00	¢EO 200 00	¢20.00	¢2E / 44 C2	¢20.00	¢2E / 41 C2
8005	Topsoil Type A	1,229	CY	\$26.62	\$32,715.98	\$14.50	\$17,820.50	\$20.00	\$24,580.00	\$41.00	\$50,389.00	\$29.00	\$35,641.00	\$29.00	\$35,641.00
TOTAL S	SCHEDULE VIII				\$32,715.98		\$17,820.50		\$24,580.00		\$50,389.00		\$35,641.00		\$35,641.00
	sales tax 9.5% Total Schedule VIII				\$3,108.02 <b>\$35,824.00</b>		\$1,692.95 <b>\$19,513.45</b>		\$2,335.10 <b>\$26,915.10</b>		\$4,786.96 <b>\$55,175.96</b>		\$3,385.90 <b>\$39,026.90</b>		\$3,385.90 <b>\$39,026.90</b>
							. ,								. ,
SUMMAR															
	Total Schedule I (Street)				\$250,525.77		\$329,795.22		\$350,187.19		\$341,552.40		\$368,368.40		\$442,623.31
	Total Schedule IV (Storm)				\$23,128.61		\$22,986.24		\$25,148.87		\$18,347.82		\$22,180.87		\$31,179.03
	Total Schedule V (Traffic Control)				\$71,310.10		\$78,226.80		\$78,511.50		\$54,863.88		\$80,953.35		\$14,128.35
	Total Schedule VII (Erosion and Sediment Control	)			\$42,109.69		\$37,914.38		\$35,124.17		\$47,968.34		\$44,529.54		\$51,841.68
1	Total Schedule VIII (Roadside Planting)			1	\$35,824.00	1	\$19,513.45	1	\$26,915.10	I	\$55,175.96	I	\$39,026.90	1	\$39,026.90

CITY OF KENT		1	2	3	4	5	6
PROJECT NAME: Horseshoe Bend/Foster Park Levee	BIDDER'S	Lloyd Enterprises, Inc.	Interwest Development NW	SCI Infrastructure, LLC	Fardig Development, Inc.	Johansen Excavating, Inc.	Construct Company, Inc.
BID OPENING: June 29, 2010	NAME AND	34667 Pacific Hwy. S.	28201 Hwy 410 E., #300	1508 Valentine Ave. SE	1809 Tacoma Point Drive E.	PO Box 674	1621 Pease Ave.
1	ADDRESS	Federal Way, WA 98063	Buckley, WA 98321	Pacific, WA 98047	Lake Tapps, WA 98391	Buckley, WA 98321	Sumner, WA 98390
1							
	TOTAL	\$422,898.18	8 \$488,436.08	\$515,886.82	\$517,908.39	\$555,059.06	\$578,799.26
ITEM		TOTA	AL TOTAL	L TOTAL	L TOTAL	L TOTAL	L TOTAL
NO. DESCRIPTION	QUA QTY UNIT	UNIT PRICE AMOUN	NT UNIT PRICE AMOUNT	T UNIT PRICE AMOUNT	T UNIT PRICE AMOUNT	T UNIT PRICE AMOUNT	T UNIT PRICE AMOUNT
1							
CONSTRUCTION CONTRACT TOTAL		\$422,898.18	8 \$488,436.08	\$515,886.82	\$517,908.39	\$555,059.06	\$578,799.26

CITY OF	KENT			7		8		9		10		J 11		12	
PROJECT	NAME: Horseshoe Bend/Foster Park Levee	BIDDER'S	6	Scarsella Bros.,	Inc.	Titan Earthwork	<	Olson Bros. Exc	cavating, Inc.	Rodarte Constr	uction, Inc.	RO-CON Equip	ment Specialist	Westwater Con	struction Co.
BID OPE	VING: June 29, 2010	NAME AN	D	PO BOX 68697		13806 16th St.	E.	6622 112th St.	E.	PO Box 1875		PO Box 1008	·	31833 Kent Bla	ick Diamond Rd.
		ADDRESS		Seattle, WA 98	168	Sumner, WA 9		Puyallup, WA 9		Auburn, WA 9	3071	Black Diamond	. WA 98010	Auburn, WA 98	
													,		
		TOTAL			\$596,394.71		\$598,682.49		\$623,805.73		\$625,717.22		\$630,868.59		\$666,058.39
ITEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QUA QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
0.1															
1000	e I - Levee Mobilization	1	LS	\$25,000.00	¢25 000 00	\$10.000.00	¢10,000,00	\$9,500.00	¢0 500 00	#2F 000 00	¢25 000 00	#20 000 00	¢20,000,00	\$42,500.00	¢ 42 500 00
1005	Clearing and Grubbing	1	LS	\$8,500.00	\$25,000.00 \$8,500.00	\$7,250.00	\$10,000.00 \$7,250.00	\$15,000.00	\$9,500.00 \$15,000.00	\$25,000.00 \$10,000.00	\$25,000.00 \$10,000.00	\$38,000.00 \$9,000.00	\$38,000.00 \$9,000.00	\$42,500.00	\$42,500.00 \$40,000.00
1003	Evergreen Rootwad with 5'-6' Trunk (Haul and Stockpile)	31	EA	\$200.00	\$6,200.00	\$295.00	\$7,250.00	\$15,000.00	\$7,750.00	\$225.00	\$6,975.00	\$165.00	\$5,115.00	\$100.00	\$3,100.00
1010	Remove Existing Asphalt Concrete Pavement	503	SY	\$200.00	\$3,018.00	\$295.00	\$2,590.45	\$250.00	\$2,012.00	\$225.00	\$3,772.50	\$9.50	\$4,778.50	\$100.00	\$1,509.00
1021	Remove Cement Concrete Driveway	8	SY	\$25.00	\$200.00	\$21.00	\$168.00	\$60.00	\$480.00	\$22.00	\$176.00	\$25.00	\$200.00	\$20.00	\$1,309.00
1025	Remove Cement Concrete Curb and Gutter	89	LF	\$10.00	\$890.00	\$3.50	\$311.50	\$10.00	\$890.00	\$10.00	\$890.00	\$9.50	\$845.50	\$1.00	\$89.00
1030	Remove Cement Concrete Extruded Curb	40	LF	\$10.00	\$400.00	\$3.25	\$130.00	\$8.00	\$320.00	\$10.00	\$400.00	\$6.00	\$240.00	\$1.00	\$40.00
1045	Relocate Signs	1	LS	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$700.00	\$700.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00
1050	Saw Cut Existing Asphalt Concrete Pavement	161	LF	\$3,300.00	\$603.75	\$3.50	\$563.50	\$3.00	\$483.00	\$3.00	\$483.00	\$4.50	\$724.50	\$4.00	\$644.00
1060	Roadway Excavation Including Haul	432	CY	\$15.00	\$6,480.00	\$9.25	\$3,996.00	\$16.00	\$6,912.00	\$24.00	\$10,368.00	\$14.50	\$6,264.00	\$30.00	\$12,960.00
1061	Stormwater Detention Pond Excavation, Including Haul	931	CY	\$15.00	\$13,965.00	\$9.30	\$8,658.30	\$14.00	\$13,034.00	\$20.00	\$18,620.00	\$11.75	\$10,939.25	\$33.00	\$30,723.00
1065	Unsuitable Foundation Excavation Including Haul	865	CY	\$10.00	\$8,650.00	\$10.30	\$8,909.50	\$20.00	\$17,300.00	\$22.00	\$19,030.00	\$14.85	\$12,845.25	\$33.00	\$28,545.00
1070	Geotextile Fabric, Non-Woven	280	SY	\$3.00	\$840.00	\$3.85	\$1,078.00	\$2.00	\$560.00	\$2.50	\$700.00	\$3.80	\$1,064.00	\$2.00	\$560.00
1075	Gravel Borrow for Levee Embankment, Incl Haul & Compaction	13,653	TON	\$13.25	\$180,902.25	\$16.45	\$224,591.85	\$16.00	\$218,448.00	\$15.00	\$204,795.00	\$11.00	\$150,183.00	\$18.00	\$245,754.00
1076	Gravel Backfill for Walls	243	TON	\$30.00	\$7,290.00	\$16.95	\$4,118.85	\$22.00	\$5,346.00	\$20.00	\$4,860.00	\$14.50	\$3,523.50	\$10.00	\$2,430.00
1080	Crushed Surfacing Top Course, 5/8 Inch Minus	278	TON	\$22.00	\$6,116.00	\$17.55	\$4,878.90	\$22.00	\$6,116.00	\$24.00	\$6,672.00	\$15.00	\$4,170.00	\$15.00	\$4,170.00
1085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	379	TON	\$22.00	\$8,338.00	\$21.40	\$8,110.60	\$22.00	\$8,338.00	\$24.00	\$9,096.00	\$13.25	\$5,021.75	\$15.00	\$5,685.00
1095	HMA Class 1/2", PG 64-22	209	TON	\$90.00	\$18,810.00	\$88.00	\$18,392.00	\$95.00	\$19,855.00	\$85.00	\$17,765.00	\$112.00	\$23,408.00	\$125.00	\$26,125.00
1125	Cold Plant Mix for Temporary Pavement Patch	3	TON	\$100.00	\$300.00	\$200.00	\$600.00	\$200.00	\$600.00	\$150.00	\$450.00	\$265.00	\$795.00	\$100.00	\$300.00
1131	Pervious Cement Concrete Pavement	153	CY	\$235.00	\$35,955.00	\$185.50	\$28,381.50	\$185.00	\$28,305.00	\$170.00	\$26,010.00	\$645.00	\$98,685.00	\$200.00	\$30,600.00
1140	Cement Concrete Driveway, 8 Inch Depth, Reinforced	36	SY	\$70.00	\$2,520.00	\$79.00	\$2,844.00	\$55.00	\$1,980.00	\$45.00	\$1,620.00	\$82.00	\$2,952.00	\$45.00	\$1,620.00
1145	Cement Concrete Sidewalk	41	SY	\$60.00	\$2,460.00	\$37.50	\$1,537.50	\$48.00	\$1,968.00	\$45.00	\$1,845.00	\$36.00	\$1,476.00	\$35.00	\$1,435.00
1205	Cement Concrete Curb and Gutter	85	LF	\$21.00	\$1,785.00	\$18.00	\$1,530.00	\$20.00	\$1,700.00	\$22.00	\$1,870.00	\$32.00	\$2,720.00	\$25.00	\$2,125.00
1210	Cement Concrete Extruded Curb	32	LF	\$35.00	\$1,120.00	\$11.75	\$376.00	\$27.00	\$864.00	\$22.00	\$704.00	\$19.00	\$608.00	\$10.00	\$320.00
1256	Remove Wire Fence	40	LF	\$3.00	\$120.00	\$3.15	\$126.00	\$15.00	\$600.00	\$5.00	\$200.00	\$6.00	\$240.00	\$3.00	\$120.00
1257	Wire Fence Type 2	40	LF	\$10.00	\$400.00	\$32.00	\$1,280.00	\$25.00	\$1,000.00	\$14.00	\$560.00	\$38.00	\$1,520.00	\$25.00	\$1,000.00
1270	Temporary Fencing	40	LF	\$5.00	\$200.00	\$6.10	\$244.00	\$5.00	\$200.00	\$5.00	\$200.00	\$8.50	\$340.00	\$1.00	\$40.00
1290	Removable Bollard	7	EA	\$1,000.00	\$7,000.00	\$875.00	\$6,125.00	\$650.00	\$4,550.00	\$650.00	\$4,550.00	\$150.00	\$1,050.00	\$550.00	\$3,850.00
1291	Remove Existing Bollard	6	EA	\$100.00	\$600.00	\$115.00	\$690.00	\$75.00	\$450.00	\$90.00	\$540.00	\$65.00	\$390.00	\$40.00	\$240.00
1315	Pothole Utilities	6	EA	\$500.00	\$3,000.00	\$225.00	\$1,350.00	\$250.00	\$1,500.00	\$325.00	\$1,950.00	\$275.00	\$1,650.00	\$200.00	\$1,200.00
1320	Project Sign	2	EA	\$1,000.00	\$2,000.00	\$850.00	\$1,700.00	\$600.00	\$1,200.00	\$500.00	\$1,000.00	\$850.00	\$1,700.00	\$500.00	\$1,000.00
1355	Minor Changes	1	CALC	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
1360	Inspection Trench	1,290	LF	\$8.35	\$10,771.50	\$2.50	\$3,225.00	\$12.00	\$15,480.00	\$2.50	\$3,225.00	\$4.25	\$5,482.50	\$3.00	\$3,870.00
1365	Remove and Relocate Art Bench	1	LS	\$6,000.00	\$6,000.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$800.00	\$800.00	\$500.00	\$500.00
1370	Relocation of Existing Sand Bags	20	EA	\$100.00	\$2,000.00	\$72.00	\$1,440.00	\$35.00	\$700.00	\$100.00	\$2,000.00	\$60.00	\$1,200.00	\$50.00	\$1,000.00
1375	Existing Irrigation System Removal and Modification	ns 1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
TOTAL S	CHEDULE I				\$393,934.50		\$385,841.45		\$412,441.00		\$406,026.50		\$418,430.75		\$512,714.00
	sales tax 9.5%				\$37,423.78		\$36,654.94		\$39,181.90		\$38,572.52		\$39,750.92		\$48,707.83
	Total Schedule I				\$431,358.28		\$422,496.39		\$451,622.90		\$444,599.02		\$458,181.67		\$561,421.83
SCHEDU	LE IV - STORM SEWER														ļ
4015	Storm Sewer Pipe, 12 Inch Diameter Ductile Iron	61	LF	\$60.00	\$3,660.00	\$55.65	\$3,394.65	\$70.00	\$4,270.00	\$50.00	\$3,050.00	\$32.00	\$1,952.00	\$60.00	\$3,660.00
4135	Remove Existing Storm Sewer Pipe or Culvert	20	LF	\$15.00	\$300.00	\$27.50	\$550.00	\$10.00	\$200.00	\$11.00	\$220.00	\$20.00	\$400.00	\$10.00	\$200.00
4150	Shoring or Extra Excavation, Class B	43	SF	\$3.00	\$129.00	\$5.00	\$215.00	\$2.00	\$86.00	\$1.00	\$43.00	\$1.65	\$70.95	\$2.00	\$86.00
4155	Foundation Material, Class I and II	13	TON	\$25.00	\$325.00		\$178.75		\$260.00	\$30.00	\$390.00	\$14.00	\$182.00		\$195.00
1.100	Tournation Material, Class Falla II	13	1011	Ψ23.00	Ψ323.00	ψ13.73	Ψ170.75	Ψ20.00	Ψ200.00	1 \$30.00	\$370.00	ψ14.00	Ψ102.00	1 \$15.00	Ψ175.00

CITY OF	KENT			7		8		9		10		11		12	
PROJECT	NAME: Horseshoe Bend/Foster Park Levee	BIDDER'S	S	Scarsella Bros.,	Inc.	Titan Earthwork		Olson Bros. Exc	cavating, Inc.	Rodarte Constr	uction, Inc.	RO-CON Equipn	nent Specialist	Westwater Cons	struction Co.
BID OPE	NING: June 29, 2010	NAME AN	ID	PO BOX 68697		13806 16th St.	E.	6622 112th St.	E.	PO Box 1875		PO Box 1008		31833 Kent Bla	ck Diamond Rd.
		ADDRES	5	Seattle, WA 987	168	Sumner, WA 98	8390	Puyallup, WA 9	8373	Auburn, WA 98	3071	Black Diamond,	WA 98010	Auburn, WA 98	8092
		TOTAL			\$596,394.71		\$598,682.49		\$623,805.73		\$625,717.22		\$630,868.59		\$666,058.39
ITEM					TOTAL		TOTAL		TOTAL		TOTAL	_	TOTAL		TOTAL
NO.	DESCRIPTION	QU# QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
4160	Light Loose Riprap	13	TON	\$50.00	\$650.00	\$71.00	\$923.00	\$30.00	\$390.00	\$45.00	\$585.00	\$150.00	\$1,950.00	\$35.00	\$455.00
4165	Quarry Spalls	158	TON	\$30.00	\$4,740.00	\$19.20	\$3,033.60	\$25.00	\$3,950.00	\$30.00	\$4,740.00	\$100.00	\$15,800.00	\$18.00	\$2,844.00
4170	Pipe Zone Bedding	17	TON	\$25.00	\$425.00	\$13.85	\$235.45	\$22.00	\$374.00	\$16.00	\$272.00	\$18.00	\$306.00	\$15.00	\$255.00
4180	Bank Run Gravel for Trench Backfill	80	TON	\$20.00	\$1,600.00	\$15.30	\$1,224.00	\$22.00	\$1,760.00	\$18.00	\$1,440.00	\$11.00	\$880.00	\$12.00	\$960.00
4220	12" Diameter Check Valve Assembly	1	EA	\$2,800.00	\$2,800.00	\$2,750.00	\$2,750.00	\$2,300.00	\$2,300.00	\$2,200.00	\$2,200.00	\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00
4225	48" Diamenter Wall Mounted Aluminum Flap Gate Assembly	1	EA	\$8,750.00	\$8,750.00	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00	\$7,000.00	\$7,000.00	\$3,800.00	\$3,800.00	\$10,000.00	\$10,000.00
TOTAL S	SCHEDULE IV				\$23,379.00		\$19,504.45		\$23,590.00		\$19,940.00		\$27,140.95		\$21,155.00
	sales tax 9.5%				\$2,221.01		\$1,852.92		\$2,241.05		\$1,894.30		\$2,578.39		\$2,009.73
	Total Schedule IV				\$25,600.01		\$21,357.37		\$25,831.05		\$21,834.30		\$29,719.34		\$23,164.73
	JLE V - TRAFFIC CONTROL														
5005	Traffic Control Labor	960	HR	\$45.00	\$43,200.00	\$47.00	\$45,120.00	\$40.00	\$38,400.00	\$44.00	\$42,240.00	\$38.00	\$36,480.00	\$1.00	\$960.00
5010	Construction Signs Class A	740	SF	\$10.00	\$7,400.00	\$6.00	\$4,440.00	\$3.50	\$2,590.00	\$12.00	\$8,880.00	\$3.00	\$2,220.00	\$2.00	\$1,480.00
5015	Traffic Control Supervisor	300	HR	\$60.00	\$18,000.00	\$49.00	\$14,700.00	\$45.00	\$13,500.00	\$44.00	\$13,200.00	\$41.00	\$12,300.00	\$1.00	\$300.00
5020	Temporary Traffic Control Devices	1	LS	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	\$4,400.00	\$4,400.00	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00
5030	Portable Changeable Message Sign (PCMS)	50	DAY	\$50.00	\$2,500.00	\$80.00	\$4,000.00	\$60.00	\$3,000.00	\$85.00	\$4,250.00	\$100.00	\$5,000.00	\$80.00	\$4,000.00
5035	Sequential Arrow Sign (SAS)	30	DAY	\$30.00	\$900.00	\$33.00	\$990.00	\$35.00	\$1,050.00	\$24.00	\$720.00	\$20.00	\$600.00	\$10.00	\$300.00
TOTAL S	SCHEDULE V				\$73,500.00		\$72,750.00		\$62,940.00		\$70,290.00		\$60,100.00		\$8,040.00
	sales tax 9.5%				\$6,982.50		\$6,911.25		\$5,979.30		\$6,677.55		\$5,709.50		\$763.80
	Total Schedule V				\$80,482.50		\$79,661.25		\$68,919.30		\$76,967.55		\$65,809.50		\$8,803.80
SCHEDL	JLE VII - TEMPORARY EROSION AND SEDIMENT	ATION CONTR	OL												
7000	Seeding, Fertilizing and Mulching	3.8	ACRE	\$2,000.00	\$7,600.00	\$1,275.00	\$4,845.00	\$1,850.00	\$7,030.00	\$1,400.00	\$5,320.00	\$700.00	\$2,660.00	\$2,500.00	\$9,500.00
7005	Filter Fabric Fence	550	LF	\$4.00	\$2,200.00	\$4.15	\$2,282.50	\$5.25	\$2,887.50	\$4.00	\$2,200.00	\$4.00	\$2,200.00	\$4.00	\$2,200.00
7006	Straw Wattle	200	LF	\$6.00	\$1,200.00	\$2.45	\$490.00	\$7.50	\$1,500.00	\$6.00	\$1,200.00	\$5.00	\$1,000.00	\$3.00	\$600.00
7015	Inlet Protection	7	EA	\$100.00	\$700.00	\$70.00	\$490.00	\$75.00	\$525.00	\$50.00	\$350.00	\$75.00	\$525.00	\$100.00	\$700.00
7020	Straw Mulch	3,687	SY	\$0.60	\$2,212.20	\$1.05	\$3,871.35	\$1.30	\$4,793.10		\$921.75	\$1.00	\$3,687.00	\$0.50	\$1,843.50
7025	Clear Plastic Covering	500	SY	\$5.00	\$2,500.00	\$2.10	\$1,050.00	\$2.00	\$1,000.00	\$1.75	\$875.00	\$2.00	\$1,000.00	\$1.00	\$500.00
7055	Temporary Erosion/Water Pollution Control	1	FA	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00		\$15,000.00		\$15,000.00	\$15,000.00	\$15,000.00
7060	Temporary Construction Entrance	499	TON	\$8.00	\$3,992.00	\$24.75	\$12,350.25	\$17.00	\$8,483.00	\$20.00	\$9,980.00	\$20.00	\$9,980.00	\$18.00	\$8,982.00
TOTAL S	SCHEDULE VII				\$35,404.20		\$40,379.10		\$41,218.60		\$35,846.75		\$36,052.00		\$39,325.50
	sales tax 9.5% Total Schedule VII				\$3,363.40 <b>\$38,767.60</b>		\$3,836.01 <b>\$44,215.11</b>		\$3,915.77 <b>\$45,134.37</b>		\$3,405.44 <b>\$39,252.19</b>		\$3,424.94 <b>\$39,476.94</b>		\$3,735.92 <b>\$43,061.42</b>
	JLE VIII - ROADSIDE RESTORATION	4 000	01/	¢45.00	¢10.405.00	¢22.25	#20 2/7 C2	#04.0C	#20 40/ SS	<b>#22.00</b>	#20 222 22	#00.00	#D4 440 CC	<b>#22.25</b>	<b>#07.000.00</b>
8005	Topsoil Type A SCHEDULE VIII	1,229	CY	\$15.00	\$18,435.00	\$23.00	\$28,267.00	\$24.00	\$29,496.00	\$32.00	\$39,328.00	\$28.00	\$34,412.00	\$22.00	\$27,038.00
IOIALS					\$18,435.00		\$28,267.00		\$29,496.00		\$39,328.00		\$34,412.00		\$27,038.00
	sales tax 9.5% Total Schedule VIII				\$1,751.33 <b>\$20,186.33</b>		\$2,685.37 <b>\$30,952.37</b>		\$2,802.12 <b>\$32,298.12</b>		\$3,736.16 <b>\$43,064.16</b>		\$3,269.14 <b>\$37,681.14</b>		\$2,568.61 <b>\$29,606.61</b>
SUMMA	DV														
JUIVIIVIA	Total Schedule I (Street)				\$431,358.28		\$422,496.39		\$451,622.90		\$444,599.02		\$458,181.67		\$561,421.83
					\$25,600.01		\$22,496.39						\$29,719.34		\$23,164.73
	Total Schedule IV (Storm) Total Schedule V (Traffic Control)				\$25,600.01		\$21,357.37 \$79,661.25		\$25,831.05 \$68,919.30		\$21,834.30 \$76,967.55		\$29,719.34 \$65,809.50		\$23,164.73
	Total Schedule VII (Erosion and Sediment Control	))			\$38,767.60		\$44,215.11		\$45,134.37		\$39,252.19		\$39,476.94		\$43,061.42
	•	')			\$38,767.60										
	Total Schedule VIII (Roadside Planting)			1	\$ZU, 186.33		\$30,952.37		\$32,298.12	I	\$43,064.16	1	\$37,681.14	I	\$29,606.61

CITY OF KEN	≟NT			'	7	,	8	'	9		10	ļ	11	,	12	
PROJECT N/	NAME: Horseshoe Bend/Foster Park Levee	ВІГ	IDDER'S	,	Scarsella Bros.,	., Inc.	Titan Earthwork	.k	Olson Bros. Exc	cavating, Inc.	Rodarte Construc	action, Inc.	RO-CON Equip	pment Specialist	Westwater Cons	struction Co.
BID OPENIN	ING: June 29, 2010	NA	AME AND	ي ر	PO BOX 68697	•	13806 16th St.	,, E.	6622 112th St.	E.	PO Box 1875	I	PO Box 1008	ı	31833 Kent Bla	ack Diamond Rd.
		AD.	DDRESS		Seattle, WA 981	168	Sumner, WA 9	<i>1</i> 8390	Puyallup, WA 98	8373	Auburn, WA 980	071	Black Diamond	ı, WA 98010	Auburn, WA 98	3092
				,		•		,				I	1	I.		
		TO	OTAL		1	\$596,394.71		\$598,682.49		\$623,805.73		\$625,717.22	1	\$630,868.59		\$666,058.39
ITEM						TOTAL	-	TOTAL	-	TOTAL	L	TOTAL	-	TOTAL	-	TOTAL
NO.	DESCRIPTION	QUA C	QTY	UNIT	UNIT PRICE	AMOUNT	T UNIT PRICE	AMOUNT	T UNIT PRICE	AMOUN <sup>7</sup>	T UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	T UNIT PRICE	AMOUNT
								,						, <u> </u>		
								'				'		'		
CONSTRUC	JCTION CONTRACT TOTAL			,	1	\$596,394.71		\$598,682.49		\$623,805.73		\$625,717.22		\$630,868.59		\$666,058.39

CITY OF K	(FNT			1			
	NAME: Horseshoe Bend/Foster Park Levee	BIDDER'	S	ENGINEER'S ESTIMATE			
BID OPEN	ING: June 29, 2010	NAME AN	<b>I</b> D	Dennis Johnson	1		
		ADDRES:	S				
		TOTAL			\$772,846.07		
ITEM		TOTAL			TOTAL		
NO.	DESCRIPTION	QTY QTY	UNIT	UNIT PRICE	AMOUNT		
1000	e I - Levee  Mobilization	1	LS	\$54,000.00	\$54,000.00		
1005	Clearing and Grubbing	1	LS	\$35,000.00	\$35,000.00		
1007	Evergreen Rootwad with 5'-6' Trunk (Haul and Stockpile)	31	EA	\$250.00	\$7,750.00		
1010	Remove Existing Asphalt Concrete Pavement	503	SY	\$7.00	\$3,521.00		
1021	Remove Cement Concrete Driveway	8	SY	\$20.00	\$160.00		
1025	Remove Cement Concrete Curb and Gutter	89	LF	\$5.00	\$445.00		
1030	Remove Cement Concrete Extruded Curb	40	LF	\$2.50	\$100.00		
1045	Relocate Signs	1	LS	\$1,000.00	\$1,000.00		
1050	Saw Cut Existing Asphalt Concrete Pavement	161	LF	\$4.00	\$644.00		
1060	Roadway Excavation Including Haul	432	CY	\$20.00	\$8,640.00		
1061	Stormwater Detention Pond Excavation, Including Haul	931	CY	\$15.00	\$13,965.00		
1065	Unsuitable Foundation Excavation Including Haul	865	CY	\$15.00	\$12,975.00		
1070	Geotextile Fabric, Non-Woven	280	SY	\$4.00	\$12,975.00		
1075	Gravel Borrow for Levee Embankment, Incl Haul & Compaction	13,653	TON	\$18.00	\$245,754.00		
1076	Gravel Backfill for Walls	243	TON	\$20.00	\$4,860.00		
1080	Crushed Surfacing Top Course, 5/8 Inch Minus	278	TON	\$20.00	\$5,560.00		
1085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	379	TON	\$20.00	\$7,580.00		
1095	HMA Class 1/2", PG 64-22	209	TON	\$90.00	\$18,810.00		
1125	Cold Plant Mix for Temporary Pavement Patch	3	TON	\$100.00	\$300.00		
1131	Pervious Cement Concrete Pavement	153	CY	\$160.00	\$24,480.00		
1140	Cement Concrete Driveway, 8 Inch Depth, Reinforced	36	SY	\$85.00	\$3,060.00		
1145	Cement Concrete Sidewalk	41	SY	\$35.00	\$1,435.00		
1205	Cement Concrete Curb and Gutter	85	LF	\$20.00	\$1,700.00		
1210	Cement Concrete Extruded Curb	32	LF	\$10.00	\$320.00		
1256	Remove Wire Fence	40	LF	\$10.00	\$400.00		
1257	Wire Fence Type 2	40	LF	\$15.00	\$600.00		
1270	Temporary Fencing	40	LF	\$3.00	\$120.00		
1290	Removable Bollard	7	EA	\$300.00	\$2,100.00		
1291	Remove Existing Bollard	6	EA	\$150.00	\$900.00		
1315	Pothole Utilities	6	EA	\$500.00	\$3,000.00		
1320	Project Sign	2	EA	\$500.00	\$1,000.00		
1355	Minor Changes	1	CALC	\$15,000.00	\$15,000.00		
1360	Inspection Trench	1,290	LF	\$14.00	\$18,060.00		
1365	Remove and Relocate Art Bench	1	LS	\$7,500.00	\$7,500.00		
1370	Relocation of Existing Sand Bags	20	EA	\$50.00	\$1,000.00		
1375	Existing Irrigation System Removal and Modification		FA	\$3,000.00	\$3,000.00		
	CHEDULE I			\$3,000.00	\$505,859.00		
IOIAL 3	sales tax 9.5%				\$48,056.61		
	Total Schedule I				\$553,915.61		
COLUED!	E IV. CTORM CEWER						
SCHEDUL 4015	LE IV - STORM SEWER Storm Sewer Pipe, 12 Inch Diameter Ductile Iron	61	LF	\$70.00	\$4,270.00		
4135 4150	Remove Existing Storm Sewer Pipe or Culvert Shoring or Extra Excavation, Class B	20 43	LF SF	\$12.00 \$0.50	\$240.00 \$21.50		
	A DECEMBER OF THE PROPERTY OF	4.3	- DE	. au.au	DZ 1.5U		

CITY OF	KENT					
PROJECT	NAME: Horseshoe Bend/Foster Park Levee	!	BIDDER'S	S	ENGINEER'S ES	TIMATE
BID OPE	NING: June 29, 2010	I	NAME AN	ID	Dennis Johnson	
		,	ADDRESS	5		
			TOTAL			\$772,846.07
ITEM			IOIAL			TOTAL
NO.	DESCRIPTION	QUA	QTY	UNIT	UNIT PRICE	AMOUNT
110.	DESCRIPTION	QUF	Q11	OIVII	ONTTRICE	AWOUNT
4160	Light Loose Riprap		13	TON	\$50.00	\$650.00
4165	Quarry Spalls		158	TON	\$20.00	\$3,160.00
4170	Pipe Zone Bedding		17	TON	\$20.00	\$340.00
4180	Bank Run Gravel for Trench Backfill		80	TON	\$20.00	\$1,600.00
4220	12" Diameter Check Valve Assembly		1	EA	\$1,200.00	\$1,200.00
4225	48" Diamenter Wall Mounted Aluminum Flap Gate Assembly		1	EA	\$8,000.00	\$8,000.00
TOTAL S	SCHEDULE IV					\$19,741.50
	sales tax 9.5%					\$1,875.44
	Total Schedule IV					\$21,616.94
SCHEDI	JLE V - TRAFFIC CONTROL					
5005	Traffic Control Labor		960	HR	\$40.00	\$38,400.00
5010	Construction Signs Class A		740	SF	\$15.00	\$11,100.00
5015	Traffic Control Supervisor		300	HR	\$45.00	\$13,500.00
5020	Temporary Traffic Control Devices		1	LS	\$2,000.00	\$2,000.00
5030	Portable Changeable Message Sign (PCMS)		50	DAY	\$140.00	\$7,000.00
5035	Sequential Arrow Sign (SAS)		30	DAY	\$70.00	\$2,100.00
	SCHEDULE V				7.2.22	\$74,100.00
	sales tax 9.5%					\$7,039.50
	Total Schedule V					\$81,139.50
SCHEDU	JLE VII - TEMPORARY EROSION AND SEDIMENT	ATION	I CONTR	OL		
7000	Seeding, Fertilizing and Mulching		3.8	ACRE	\$2,000.00	\$7,600.00
7005	Filter Fabric Fence		550	LF	\$7.00	\$3,850.00
7006	Straw Wattle		200	LF	\$5.50	\$1,100.00
7015	Inlet Protection		7	EA	\$125.00	\$875.00
7020	Straw Mulch		3,687	SY	\$5.00	\$18,435.00
7025	Clear Plastic Covering		500	SY	\$2.50	\$1,250.00
7055	Temporary Erosion/Water Pollution Control		1	FA	\$15,000.00	\$15,000.00
7060	Temporary Construction Entrance		499	TON	\$30.00	\$14,970.00
TOTAL S	SCHEDULE VII					\$63,080.00
	sales tax 9.5%					\$5,992.60
	Total Schedule VII					\$69,072.60
SCHEDU	JLE VIII - ROADSIDE RESTORATION					
8005	Topsoil Type A		1,229	CY	\$35.00	\$43,015.00
TOTAL S	SCHEDULE VIII					\$43,015.00
	sales tax 9.5%					\$4,086.43
	Total Schedule VIII					\$47,101.43
SUMMA	RY					
	Total Schedule I (Street)					\$553,915.61
	Total Schedule IV (Storm)					\$21,616.94
	Total Schedule V (Traffic Control)					\$81,139.50
	Total Schedule VII (Erosion and Sediment Control	)				\$69,072.60
	Total Schedule VIII (Roadside Planting)					\$47,101.43

	E: Horseshoe Bend/Foster Park Levee : June 29, 2010	1	BIDDER' NAME AN NDDRES	ND	ENGINEER'S ES Dennis Johnson	
		7	TOTAL			\$772,846.07
ITEM						TOTAL
NO.	DESCRIPTION	QUA	QTY	UNIT	UNIT PRICE	AMOUNT
CONSTRUCTI	ON CONTRACT TOTAL					\$772,846.07